number, face cards (J, Q, K} are worth 10 and Aces are worth 1 or 11 (whichewver is better for you). 5o
getting an Ace and a ten gets you 21 (“Blackjack")! Find:
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d) Why can't you determine P(Second card is an ace) on its own?
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If the probability of Event Ef depends Pn whether or not Event A has r::cturr;;l,]Eve nts A and B
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If the probability of Event B DOES NOT depend on whether or not Event A has occurred, Events

A and B are called i HW@"? ::LEH 1 events.
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How could we change the rules of Blackjack so that every card drawn is an independent event?

Play with replice ment

b) P(First card is a face card)
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Let’s go back to Blackjack again. L{firs rd is a face :ard@mum card is an ace}
When we calculated the probability for mr@ the warm-up, we used the fact that:
e P G ven
P(A — B) = P(A) x P(B given that/A happen '.’Lﬁﬁff T;_
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Twn cards are drawn from a deck while playing Blackjack (without replacement). Use the formula to

determine the probability of the following events:
a) Both cards are face Eard’iq | b) One card is a face card and the

ﬁ_ - | i+ .{-:;r‘_.& 'Q‘ L€ other is an ace (different from the warmup!)
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Two cards are drawn from a deck with replacement. Determine the probability of the following
PupAnts: s




Two cards are drawn from a deck with replacement. Determine the probability of the following
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It's really easy to confuse mutually exclusive and independent/dependent events.
¢ Mutually exclusive events involve whether two events can happen at the same time
* Independent/dependent events involve one event affecting the probability of another event

Are Event A and B... Mutugll: Exclusive? Independent endent?
You pick a random Byng student

A: They are over & feet tall ND Bty Caq I{'l-‘?iﬂﬂ“ Dﬁpﬁﬂ@é’ﬂﬂ WE?A f/}f&'jﬂ

B: They are over 200 pounds At Sade 7"';1'! >
You draw a card from a deck
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If P{A) = %, P{B) = -and PlA ' B) = = use appropriate formulas to determine: O -F B
a) P(A B) b) P(B|A) c) P(A|B)




